TEST 11
I/- Choose the most suitable word or phrase:

1. Theairis ......cooevvvnnnnnnn polluted by exhaust fume from cars.
A- seriously B- carelessly C- ultimately D- politely
2. Inorderto ...........ooeeeiiinnnn.. littering, you should put garbage bins around the school-yard.
A- save B- reuse C- produce D- prevent
3. Itisvery cooovveiiiiiiiin, that he failed the final examination.
A- disappointed B- disappointing C- disappointedly D- disappointingly
7/ § i | A tomorrow, we’ll stay at home.
A- rains B- rained C- will rain D- has rained
5. Study harder ......................... the exam.
A- or you will pass  B- unless you pass C- if you will pass D- and you will pass
6. Wecan ...........ooevviinnnn. the pollution by recycling bottles and cans.
A- minimize B- mention C- prohibit D- litter
7. Theman ......................... car was stolen last night is Mr.Pike.
A- who B- whom C- whose D- which
8. Vegetables will become .......................... and inedible if we use much pesticide on them.
A- polluted B- preserved C- poisonous D- ideal
9. What can we do to prevent lazy students ....................... throwing trash?
A- about B- from C-in D- by
10, o she has a sore leg, she has difficulties in walking.
A- As B- Since C- Although D- A and B are correct
11. If you are busy, We ..................... help you.
A- can B- could C- would D- are
12. We are talking about the preservation of .......................... resources.
A- nature B- natural C- naturally D- naturalize
13. Tsuggest ..c.oovvenvininnnannnn. energy.
A- save B- saving C- saved D- should save
14. Tsuggestthatwe ........................ energy.
A- save B- saving C- saved D- should save
15. Unless you understand, I ........................ explain it again to you.
A- am B- was C- will D- would
16. 'mvery proud .............cceenvenn.. my father.
A-in B-on C- of D- off

11/- Choose the underlined word or phrase (A, B, C or D) that needs correcting:
1. Remember to wear a sweater if it will be cold tomorrow.

A B C D
2. She’s very tired so she stayed up late to watch T.V last night.
A B C D
3. He sighed sad when he heard the bad news.
A B C D
4. You should wear helmets to protect youselves against injury.
A B C D
I11/- Supply the correct verb tense - form:
1. ManyUFOS ... around the world in 1952. (see)
2. 11 you, I would do that work. (be)
3. Isuggest ....ocoovviiniiiininnn, to school by bus. (go)

4. I’'m looking forward to ...................... from you. (hear)



IV/- Supply the correct word form:

LI'mvery ...ooooooviiiininnn.. that you passed the examination. (happiness)

2. What will happen if the airis ..................oeueen. ? (pollution)

3. Easter is a joyful festival whichis ....................... in many countries. (celebration)
4. Don’t throw away .................... bottles and cans. Recycle them. (use)

5 Hewillbe ....................... as the president of our company. (nomination)

6. Allthe ...l are interested in saving wild animals. (environment)

V/- Choose the most suitable words to complete the passage:

Electricity is the most common form of energy today. It has (2) ..................... uses. The most
common (3) .........ceiinnnn. of electricity is to provide artificial lighting. In factories, electricity is used
() TN up the work place. It is also used to operate air-conditioners, computers and many other
machines. Electricity is also used to power many (6) ........................ that we have in our homes such as
television sets, computers, electric fans, irons (7) ..............c..e.e. many others. The list is simply endless.
Modern life will most probably be lost (8)....................... electricity.

1. A-alots B- a lot of C- lots D- a lots of
2. A- used B- useful C- use D- useless
3. A-to light B- lighting C- lighted D- light

4. A- resources B- appliances C- bulbs D- panels
5. A-as B-so C-and D- but

6. A- off B- down C-in D- without

VI/- Read the passage, and then write TRUE (T) or FALSE (F) for the following sentences:

There is too much carbon dioxide (CO2) in the air. When oil, gas and coal burn, they create large amounts of
carbon dioxide. We sent five billion tons of carbon dioxide into the atmosphere every year. This amount will
double in fifty years. This carbon dioxide lets sunlight enter the Earth’s atmosphere and heat the Earth.
However, it does not let as much heat leave at the atmosphere and enter space. It is like a blanket. The heat can
pass from the sun through the blanket to warm the Earth. The heat stays there and cannot escape through the
blanket again. Scientists call this the greenhouse effect.

1. When we burn oil, gas or coal, they give out carbon dioxide. L

2. Every year about five million tons of carbon dioxide is sent into the atmosphere. ...

3. This carbon dioxide heats the Earth.

4. The Earth is like a blanket.
VI1/- Rewrite the sentences, beginning with the word given:

1. It rained heavily but they went to the theater.
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2. My mother cooks very well.
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3. Why don’t you turn off the light before going out?
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4. | have just read an interesting book.
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